Pre-Calculus Name
9-3 Other Identities
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Congratulations! You have just derived the double angle identities ©

There are 2 other ways that cos(2x) can be written. Give the two other forms of cos(2x).
Hint: Use your Pythagorean identities.
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Take these two double angle identities above and solve the correct equation for sin® x and the correct
equation for cos’ x.
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The two equations you just found are the Power Reducing Identities

Now we are going to use the power redU’Ci_ngkj___f_rLtM‘élQ.find the half angle identities
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Start by rewriting your power reducing identities.
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If we are looking for half angle identities, we need to replace the angle we have with half the angle. Do
that and then solve each one (you should end up with two equations, one that says sin x = and one that
says cos X =)
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Practice with these identities:

Directions: Use the half angle identities to evaluate the given expression exactly.
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Directions: Find sin2x, cos2x, and tan2x under the given conditions. - N —
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Directions: Find sin-, cosz, and tanE under the given conditions.
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Directions: Assume sinx = .6 for0 < x < g, and evaluate the given expression.
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Directions: Simplify the given expression.
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